Multiplication is very important to Singing River Electric. It \
is needed to measure the amount of electricity used at your

home or school. We also use it to determine how much to bill

each month. Electricity is measured in kilowatt-hours. One
kilowatt-hour is equal to the electricity needed to keep one

100-watt light bulb burning for 10 hours. It is figured 100watts

x 10hours=1,000 watts of power.
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N 2 |7 3 |4/ 4 5 6 |
1 x 1 =1 2 x1=2 3x1=3/ 4 x 1 =4 5x1=25 7‘6x1=6 7~<

B 1 x 2 =2 2 x 2 =4 3 x2=26 4 x 2 =8 5x 2 =10 6 x 2 =12
1 x 3 =3 2 x3 =6 3 x3=09 / 4 x 3 =12 ], 5 x 3 =15 |~ 6 x 3 =18 S\

1 x 4 =4 2 x4 =28 3 x 4 =12 / 4 x 4 =16 5x 4 =20 6 x 4 =24

1 x 5 =25 2 x5 =10 3 x5 =15 4 x 5 =20 | 5x 5 =25 6 x 5 =30
1 x 6 =6 2 x 6 =12 3 x 6 =18 / 4 x 6 =24 4 5 x 6 =30 6 x 6 =36 ~J

1 x 7 =17 2 x7 =14 3 x7=21}|— 4 x 7 =28 5 x 7 =35 6 x 7 =42

1 x 8 =28 2 x 8 =16 3 x 8 =24 4 x 8 =32 5 x 8 =40 6 x 8 =48

1 x 9 =29 2 x 9 =18 3 x 9 =27 4 x 9 =36 5 x 9 =45 6 x 9 =54

1 x10 =10 2 x10 =20 3 x10 =30 4 x 10 =40 5 x 10 =50 6 x 10 =60

1 x11=1 2 x 11 =22 3 x11 =33 4 x 11=44 | 5 x 11 =55 6 x 11 =66

1 x12 =12 2 x12=24 7 3 x12 =236 4 x 12 =48 5 x12 =60 6 x12=72
— \—

7 x1 =17 8 x 1=28 9x 1 =9 10x 1 =10 Mx 1 =1 12 x 1 =12

7 x 2 =14 8 x 2 =16 9 x 2 =18 10x 2 =20 Mx 2 =22 12 x 2 =24
7 x 3 =21 8 x 3 =24 : 9 x 3 =27 10 x 3 =30 1M1 x 3 =33 — 1 12x 3 =36 | —/—/——

7 x 4 =28 8 x 4 =32 9 x 4 =36 10 x 4 =40 — | 11 x 4 =44 12 x 4 =48

o 7 x5 =35 8 x 5 =40 9 x 5 =45 10 x 5 =50 1M1 x 5 =55 12 x 5 =60
7 x 6 =42 8 x 6 =48 9 x 6 =54 10 x 6 =60 11 x 6 = 66 |: 12 x 6 =72 | —

7 x 7 =49 8 x 7 =56 9 x 7 =63 10x 7 =70 Mx 7 =77 12 x 7 =84

o 7 x 8 =56 8 x 8 =64 9 x 8 =72 10 x 8 =80 11 x 8 = 88 12 x 8 =96
7 x 9 =63 8 x 9 =72 9 x 9 =81 10x 9 =90 11 x 9 =99 — 1 12x 9 =108 | ——

c 7 x10 =70 8 x 10 =80 9 x10 =90 10 x 10 = 100 - 1M x10 =110 § _ | 12x10 =120
7 x11 =77 8 x 11 =288 9 x 11 =99 10 x 11 =110 |, MxMM=121 | — | 12 x 11 =132 | =—
7 x12 =84 8 x12 =96 9 x 12 =108 10 x 12 = 120 11 x 12 =132 12 x 12 = 144 (@)
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